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SECTION – A

Question ID : 171

Binomial Theorem

1. If        
  

31 30
31 31 30 30

k k 1 k k 1
k 1 k 1

60!
C C C C

30! 31!
 

 


   , where a  R, then the value of 16 is equal to :

;fn         
  

31 30
31 31 30 30

k k 1 k k 1
k 1 k 1

60!
C C C C

30! 31!
 

 


   gS, tgk¡ a  R gS, rks 16dk eku cjkcj gS :

(1) 1411 (2) 1320 (3) 1615 (4) 1855

Ans. Official Answer NTA (1)

Sol.
31 31

31 31 31 31
k k 1 k 32 k

k 1 k 1

C . C C . C 
 

 

                      = coefficient of x32 in (1 + x)62

                       = 62C
32

Similary 
30

30 30 60
k 31 k 31

k 1

C . C C




So 62C
32

 – 60C
31

 = 
62 61! 62.61

. 30
32 30!31! 32

 
  

16 = 31 × 61 – 16 × 30 = 1411

Question ID : 172

Function

2. Let a function f : N  N be defined dy

ekuk ,d Qyu f : N  N

 

2n, n 2, 4,6,8,.......

f n n 1, n 3,7,11,15,......

n 1
, n 1,5,9,13,........

2





  

  

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}kjk ifjHkkf”kr gSA rks f  :

Then, f is :

(1) one-one but not onto (2) onto but not one-one

(3) neither one-one nor onto (4) one-one and onto

(1) ,dSdh gS ijUrq vkPNknd ugha gS (2) vkPNknd gS ijUrq ,dSdh ugha gS

(3) u rks ,dSdh gS u gh vkPNknd gS (4) ,dSdh rFkk vkPNknd gS

Ans. Official Answer NTA (4)

Sol. f(x) = 1 for n = 1

          2 for n = 3

          3 for n = 5

          4 for n = 2

So onto and one-one

Question ID : 173

Determinant

3. If the system of linear equations

;fn jSf[kd lehdj.k fudk;

2x  + 3y – z = –2

x + y + z = 4

x – y + ||z = 4 – 4

where  R, has no solution, then

tgk¡  R gS, dk dksbZ gy ugha gSa] rks :

(1)  = 7 (2)  = –7

(3)  = 8 (4) 2 = 1

Ans. Official Answer NTA (2)

Sol.

2 3 1

D 1 1 1 0 | | 7

1 1 | |



       

 

for  = 7, D
1
 = D

2
 = D

3
 = 0

So  = –7
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Question ID : 174

Matrices

4. Let A be a matrix of order 3 × 3 and det (A) = 2. Then det (det (A) adj (5 adj (A3))) is equal to _________.

ekuk A ,d d 3 × 3 dksfV dk vkO;wg gSA ekuk det (A) = 2 gSA rks det (det (A) adj (5 adj (A3)))  cjkcj gS ________.

(1) 512 × 106 (2) 256 × 106 (3) 1024 × 106 (4) 256 × 1011

Ans. Official Answer NTA (1)

Sol. |A| = 2

    3 3 2 3| A | .adj 5 adj A 2 5 .adj adj A

= 23 . 56 |adj (adj A3)|

= 23.56 |A3|4

= 23. 56 .212

= 29 . 106

= 512 × 106

Question ID : 175

P & C

5. The total number of 5-digit numbers, formed by using the digits 1, 2, 3, 5, 6, 7 without repetition, which

are multiple of 6, is :

fcuk iqjko`fÙk ds vdksa 1, 2, 3, 5, 6, 7 ds mi;ksx }kjk cukbZ xbZ -5 vdksa dh la[;kvksa] tks fd 6 dh xq.kt gSa] fd dqy

la[;k gS  :

(1) 36 (2) 48 (3) 60 (4) 72

Ans. Official Answer NTA (4)

Sol. There are the numbers which are diviseble by 3 and even.

1, 2, 3, 5, 7........................(2)

4! = 24

1,6,5,7,2

2

4! = 27

6

4! = 24

total = 3 × 4! = 72
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Question ID : 176

Sequence & progression

6. Let A
1
, A

2
, A

3
, ........ be an increasing geometric progression of positive real numbers. If A

1
A

3
A

5
A

7
 =

1

1296
 and 2 4

7
A A

36
  , then, the value of AA

6
 + AA

8
 + A

10
 is equal to :

ekuk  A
1
, A

2
, A

3
, ......./kukRed okLrfod la[;kvksa dh o/kZeku xq.kksÙkj Js<+h gSA ;fn A

1
A

3
A

5
A

7
 = 

1

1296

rFkk 2 4

7
A A

36
   gSa, rks A

6
 + AA

8
 + A

10
 dk eku cjkcj gS :

(1) 33 (2) 37 (3) 43 (4) 47

Ans. Official Answer NTA (3)

Sol. Let A
4 
= a and common ratio = r

r 3 4

3 2

a a 1 1 1
. .a .ar a a

r r 1296 64 6
    

2
2 4 2 2

7 a 7 1 7
A A a 1 r 6

36 r 36 r 6
         

A
6
 + A

8
 + A

10
 = a(r2 + r4 + r6) = 1/6 (6 + 62 + 63) = 1+ 6 + 36 = 43

Question ID : 177

Definite Integration

7. Let [t] denote the greatest integer less than or equal to t. Then, the value of the integral 
1

2

0

8x 6x 1 dx    

is equal to :

ekuk [t] egÙke iw.kkZad  t gSA rks lekdyu  
1

2

0

8x 6x 1 dx      dk eku cjkcj gS :

(1) –1 (2) 
5

4


(3) 

17 13

8


(4) 

17 16

8



Ans. Official Answer NTA (3)
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Sol.

(x = 3/8, y = 1/8)

y = 0

y = – 1

y = – 2

(1, –3)

(0, –1)

1

4

1

2
3

4

3 17

8



Let y = – 8x2 + 6x–1
for y = – 2
–8x2 + 6x – 1 = 0 – 2

 
3 17

x
8




for y = –1
–8x2 + 6x – 1 = –1

 
3

x
4



so        

3 17

1 1/4 1/2 3/4 18
2

0 0 1/4 1/2 3/4 3 17

8

8x 6x 1 dx 1 dx 0dx 1 dx 2 dx 3 dx





                  

1
1

4
   + 0 +  

3 1 3 17 3 3 17
1 2 1 3

4 2 8 4 8

     
                  

= 
17 13

8



Question ID : 178

Continuity & Differentiability

8. Let f : R  R be defined as  
 

 

x

x

x

e , x 0

ae x 1 , 0 x 1
f x

b sin x , 1 x 2

e c, x 2

    
    

      
     

 where a, b, c  R and [t] denotes greatest

integer less than or equal to t. Then, which of the following statements is true?
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ekuk f : R  R  
 

 

x

x

x

e , x 0

ae x 1 , 0 x 1
f x

b sin x , 1 x 2

e c, x 2

    
    

      
     

 }kjk ifjHkkf’kr gS] a, b, c  R gSa rFkk [t] egÙke iw.kkZad t gSA

rks fuEu dFkuksa esa ls dkSulk lR; gS ?

(1) There exists a, b, c  R such that f is continuous on R.

 a, b, c  R dk vfLrRo gS ftuds fy, f, R ij larr gS

(2) If f is discontinuos at exactly one point, then a + b + c = 1

;fn f ek= ,d fcUnq ij vlarr gS] rks a + b + c = 1

(3) If f is discontinuous at exactly one point, then a + b + c  1

;fn f ek= ,d fcUnq ij vlarr gS] rks a + b + c  1

(4) f is discontinuous at atleast two points, for any values of a, b and c

a, b, c ds fdUgha Hkh ekuksa ds fy, f de ls de fcUnqvks ij vlarr gSA

Ans. Official Answer NTA (3)

Sol.

Question ID : 179

Area Under Curve

9. The area of the region   2S x, y : y 8x, y 2x,x 1     is :

{ks=   2S x, y : y 8x, y 2x,x 1     dk {ks=Qy gS  :

(1) 
13 2

6
(2) 

11 2

6
(3) 

5 2

6
(4) 

19 2

6

Ans. Official Answer NTA (2)

Sol. Required area
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1 4

9 2x

9 2 2x

 
43/ 2 2

4

1
1

4.x x
2 2 x 2 x dx 2

3 2

 
    

 


= 
32 4 1

2 8
3 3 2

 
     

= 
64 48 8 3 11 2

2
6 6

   
   

Question ID : 1710

Differential Equation

10. Let the solution curve y = y(x) of the differential equation 

y y

x x

2 2 2 2

x dy x
e x x e y

dxx y x y

   
      

        

pass through the points (1, 0) and (2, ),  > 0. Then  is equal to :

ekuk vody lehdj.k 
y y

x x

2 2 2 2

x dy x
e x x e y

dxx y x y

   
      

        
 dk gy oØ y = y(x) fcUnqvksa (1, 0) rFkk

(2, ),  > 0 ls gksdj tkrk gS] rks  dk eku cjkcj gS :

(1) 
1

exp e 1
2 6

 
  

 
(2) 

1
exp e 1

2 3

 
  

 

(3) exp e 1
6

 
  

 
(4) 2exp e 1

3

 
  

 
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Ans. Official Answer NTA (1)

Sol.
 y/x

2 2

x dy
e x y

dxx y

  
        

 y/x

2

1 y 1
e d dx

x xy
1

x

 
 
   

    
        

Inteqrating both sides

 y/x1 y
sin e ln x c

x
  

   
 

as y (1) = 0 so c = 1

 y/x1 y
sin e ln x 1

x
  

   
 

(2) will satisfy it

 e 1 ln 2
6


   

1
exp e 1

2 6

 
     

 

Question ID : 1711

Differential Equation

11. Let y = y(x) be the solution of the differential equation    2 2 3dy
x 1 x 3x y y 4x 0, x 1

dx
      , with

y(2) = – 2. Then y(3) is equal to :

ekuk vody lehdj.k    2 2 3dy
x 1 x 3x y y 4x 0, x 1

dx
      dk gy y = y(x) gS rFkk y(2) = – 2 rks

y(3) cjkcj gS :

(1) –18 (2) –12 (3) –6 (4) –3

Ans. Official Answer NTA (1)

Sol.
 
   

2 3

2 2

y 3x 1dy 4x

dx x x 1 x 1 x


 

 
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If = 
  

 
2ln x 1 ln x

2

1
e

x x 1

   


       

3

2 22 2 2 2

y 4x 1 4x 2
. dx dx c

x 1x x 1 x 1 x x x 1 x 1


   

   
 

y = 2x + cx (x2 – 1)

Now y (2) = – 2  c = – 1

So y = 2x – x (x2 – 1)
y (3) = 2 × 3 – 3(8) = 6 – 24 = – 18

Question ID : 1712

Monotonocity

12. The number of real solutions of x7 + 5x3 + 3x + 1 = 0 is equal to ________.

x7 + 5x3 + 3x + 1 = 0 ds okLrfod gyksa dh la[;k gS ________.

(1) 0 (2) 1 (3) 3 (4) 5

Ans. Official Answer NTA (2)

Sol. Let f(x) = x7 + 5x3 + 3x + 1

f’(x) = 7x6 + 15x2 + 3 > 0

So are real root as it is odd degree polynomial

Question ID : 1713

Hyperbola

13. Let the eccentricity of the hyperbola 
2 2

2 2

x y
H : 1

a b
   be 

5

2
 and length of its latus retum be 6 2 , If

y = 2x + c is a tangent to the hyperbola H, then the value of c2 is equal to :

ekuk vfrijoy; 
2 2

2 2

x y
H : 1

a b
   dh mRdsUnzrk 

5

2
 gS rFkk bldh ukfHkyac thok dh yackbZ 6 2 gSA ;fn vfrijy;

H dh ,d Li”kZ js[kk y = 2x + c gS] rks c2 dk eku gS :

(1) 18 (2) 20 (3) 24 (4) 32

Ans. Official Answer NTA (2)

Sol.
2 2

2 2

b 5 b 3
1

a 2 a 2
    ...........(1)

and 
22b

6 2
a

 ...........(2)
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from (1) and (2) a 2 2, b 2 3 

Now condition of tangency
c2 = a2m2 –b2

 c2 = 8 × 4 – 12 = 20

Question ID : 1714

Circle

14. If the tangents drawn at the points O(0, 0) and  P 1 5, 2  on the circle x2 + y2 – 2x – 4y = 0 intersect

at the point Q, then the area of the triangle OPQ is euqal to :

;fn o`Ùk x2 + y2 – 2x – 4y = 0  ds fcUnqvks O(0, 0) rFkk  P 1 5, 2  ij [khaph xbZ Li”kZ js[kk,sa fcUnq Q ij feyrh

gSa] rks f=Hkqt OPQ dk {ks=Qy cjkcj gS :

(1) 
3 5

2


(2) 

4 2 5

2


(3) 

5 3 5

2


(4) 

7 3 5

2



Ans. Official Answer NTA (3)

Sol.

P

(1, 2)

O(0, 0)

5

Q

1 5, 2

Tangent at (0, 0) : x + 2y = 0

OP PQ  and Q is on ine x + 2y = 0

So  
 1 5

Q 1 5 ,
2

 
  
 
 

So area of 

 

0 0 1
1

1 5 2 1
2

1 5
1 5 1

2

   

 


                     = 
5 3 5

2


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Question ID : 1715

3D Geometry

15. If two distinct points Q, R lie on the line of intersection of the planes –x + 2y – z = 0 and

3x – 5y + 2z = 0 and PQ = PR = 18  where the point P is (1, –2, 3), then the area of the triangle PQR

is equal to :

;fn leryksa –x + 2y – z = 0 rFkk 3x – 5y + 2z = 0 dh izfrPNsnu js[kk ij nks fHkUUk fcUnq Q, R gSa rFkk  PQ = PR

= 18  gS] tgka P fcUnq (1, –2, 3) gS, rks f=Hkqt PQR dk {ks=Qy cjkcj gS :

(1) 
2

38
3

(2) 
4

38
3

(3) 
8

38
3

(4) 
152

3

Ans. Official Answer NTA (2)

Sol. Plane are –x + 2y – z = 0

3x – 5y + 2z = 0

P(1, –2, 3)

Q RS

Let R (k, k, k) Now PQ = 18

 (k – 2)2 + (k + 2)2 + (k – 3)2 = 18
 3k2 – 4k – 4 = 0

 
2

k , 2
3

 

So 
2 2 2

Q , ,
3 3 3

 
   
 

 and R(2, 2, 2)

mid point 
2 2 2

s , ,
3 3 3

 
  
 

base of PQR = QR = 
8

3.
3

,    height 
114

PS
3

 

area = 
1 8 114 4

3 38
2 3 3 3
   
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Question ID : 1716

3D Geometry

16. The acute angle between the planes P
1
 and P

2
, when P

1
 and P

2
 are the planes passing through the

intersection of the planes 5x + 8y + 13z – 29 = 0 and 8x – 7y + z – 20 = 0 and the points (2, 1, 3) and

(0, 1, 2), respectively, is :

eku leryksa 5x + 8y + 13z – 29 = 0, 8x – 7y + z – 20 = 0 ds izfrPNsnu vkSj fcUnqvksa  (2, 1, 3) rFkk

(0, 1, 2) ls gksdj tkus okys nks lery Øe”k: P
1
 rFkk P

2 
gSaA rks leryksa P

1
 rFkk  P

2
 ds chp U;wu dks.k gS :

(1) 
3


(2) 

4


(3) 

6


(4) 

12



Ans. Official Answer NTA (1)

Sol. The required plane P
1
 + P

2
 = 0

  (5 + 8)x + (8 – 7) y + (13 + )z = 29 + 20

      (2, 1, 3) will satisfy if 
7

2
 

and plane : 2x – y + z = 6  (0, 1, 2) will satisfy if 
1

5
 

So angle between then and plane : x + y + 2z = 5

 
2 1 2 1

cos
26 6

 
  

 
3


 

Question ID : 1717

Vectors

17. Let the plane P : r .a d
 

 contain the line of intersection of two planes  ˆ ˆ ˆr. i 3j k 6  


 and

 ˆ ˆ ˆr. 6i 5j k 7   


. If the plane P passes through the point 2,3,
2

 
 
 

, then the value of 
2

2

13a

d


 is equal

to :

ekuk nks leryrksa  ˆ ˆ ˆr. i 3j k 6  


 rFkk  ˆ ˆ ˆr. 6i 5j k 7   


dh izfrPNsnu js[kk lery P : r .a d
 

 esa gSA ;fn

lery P, fcUnq  2,3,
2

 
 
 

 ls gksdj tkrk gS] rks  
2

2

13a

d



 dk eku gS :
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(1) 90 (2) 93 (3) 95 (4) 97

Ans. Official Answer NTA (2)

Sol. P
1
 : x + 3y – z = 6

P
2
 : –6x + 5y – z = 7

Let the required plane is P
1
 + P

2
 = 0

 (1 – 6)x + (3 + 5)y – z(1 + ) = 6 + 7

1
2,3,

2

 
 
 

 will satisfy it

 = 1

So the plane : –5x + 8y – 2z – 13 = 0

                     ˆ ˆ ˆr. 5i 8j 2k 13    


 
2 2

2 2

13a 13
. 25 64 4 93

d 13
   



Question ID : 1718

Probability

18. The probability, that in a randomly selected 3-digit number at least two digits are odd, is :

3- vadksa dh ;kn`PN;k pquh xbZ la[;k esa de ls de nks vad fo’ke gksus dh izkf;drk gS :

(1) 
19

36
(2) 

15

36
(3) 

13

36
(4) 

23

36

Ans. Official Answer NTA (1)

Sol. 000 + E00 + 0E0 + 00E

5 5 5 4 5 5 5 5 5 5 5 5
P

9 10 10

          


 

5 5 19 19

9 10 10 36

 
 

 
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Question ID : 1719

Heights & Distances

19. Let AB and PQ be two vertical poles, 160 m apart from each other. Let C be the middle point of B and

Q, which are feet of these two poles. Let 
8


 and  be the angles of elevation from C to P and A,

respectivley. If the height of pole PQ is twice the height of pole AB, then tan2 is equal to :

ekuk nks Å/okZ/kj iksy AB rFkk PQ ,d nwljs ls 160 ehVj dh nwjh gSaA ekuk B rFkk Q bu nks iksyksa ds ikn gSa] ftuds

e/; fcUnq C ls P rFkk A ds mUUk;u dks.k Øe”k% 
8


 rFkk  gSaA ;fn iksy PQ dh Å¡pkbZ] iksy AB dh Å¡pkbZ dh nks xquk

gS rks tan2dk eku gS :

(1) 
3 2 2

2


(2) 

3 2

2


(3) 

3 2 2

4


(4) 

3 2

4



Ans. Official Answer NTA (3)

Sol.
A

B C

P

Q

2x

 /8
x

x
tan

BC
  --------------(1)

2x
tan

8 BC


 --------------(2)

dividing tan 1

2tan
8





 

2 1
tan

2


 

 2 3 2 2
tan

4


 
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Question ID : 1720

Mathematical Reasoning

20. Let p, q, r be three logical statements. Consider the compound statements

     1S : ~ p q ~ p r     and

 2S : p q r 

Then, which of the following is NOT true ?

(1) If S
2
 is True, then S

1
 is True (2) If S

2
 is False, then S

1
 is False

(3) If S
2
 is False, then S

1
 is True (4) If S

1
 is False, then S

2
 is False

ekuk p, q, r rhu rdZlaxr dFku gSaA fuEu dFkuksa ij fopkj dhft, :

     1S : ~ p q ~ p r    rFkk

 2S : p q r 

rks fuEu esa ls dkSu&lk lR; ugha gS ?

(1) ;fn S
2
 lR; gS] rks S

1 
lR; gS (2) ;fn S

2
 vlR; gS] rks S

1
 vlR; gS

(3) ;fn S
2
 vlR; gS] rks S

1
 lR; gS (4) ;fn S

1
 vlR; gS] rks S

2
 vlR; gS

Ans. Official Answer NTA (3)

Sol. S
1
 : p  (q  r)  ~p  ( q r)

                         = (~p  q)  (~p  r)

                         = S
1

So S
1
 and S

2
 are same.

SECTION – B

Question ID : 1721

Set & Relations

21. Let R
1
 and R

2
 be relations on the set {1, 2, ........., 50} such that

R
1
 = {(p, pn) : p is a prime and n  0 is an integer} and

R
2
 = {(p, pn) : p is a prime and n = 0 or 1}

Then, the number of elements in R
1
 – R

2
 is ____________.

ekuk leqPp; 1, 2, ........., 50} ij nks laca/k R
1
 rFkk R

2
 fuEu izdkj gSa :

R
1
 = {(p, pn) : p ,d vHkkT; la[;k gS rFkk n  0 ,d iw.kkZad} rFkk
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R
2
 = {(p, pn) : p ,d vHkkT; la[;k gS rFkk n = 0 ;k 1 gS}

rks R
1
 – R

2
 esa vo;oksa dh la[;k gS  ____________

Ans. Official Answer NTA (8)

Sol.

Question ID : 1722

Quadratic Equation

22. The number of real solutions of the equation e4x + 4e3x – 58e2x + 4ex + 1 = 0 is :

lehdj.k e4x + 4e3x – 58e2x + 4ex + 1 = 0 ds okLrfod gyksa dh la[;k gS :

Ans. Official Answer NTA (2)

Sol.

Question ID : 1723

Statistics

23. The mean and standard deviation of 15 observations are found to be 8 and 3 respectively. On rechecking

it was found that, in the observations, 20 was misread as 5. Then, the correct variance is equal to ________.

15 izs{k.kksa ds ek/; rFkk ekud fopyu Øe”k% 8 rFkk 3 Kkr fd, x,A iqu% tk¡p djus ij ik;k x;k fd izs{k.k 20 dks

xyrh ls 5 i<+k x;k FkkA rks lgh izlj.k cjkcj gS ________.

Ans. Official Answer NTA (17)

Sol.

Question ID : 1724

Vectors

24. If ˆ ˆ ˆa 2i j 3k  


, ˆ ˆ ˆb 3i 3j k  


 and 1 2 3
ˆ ˆ ˆc c i c j c k  


 are coplanar vectors and a.c 5

 
, b c
   then

122  1 2 3c c c   is equal to __________.

;fn ˆ ˆ ˆa 2i j 3k  


, ˆ ˆ ˆb 3i 3j k  


rFkk 1 2 3
ˆ ˆ ˆc c i c j c k  


 ds lg&ryh; gS a.c 5

 
 gS rFkk b c

   ds yacor gS

rc  122  1 2 3c c c   dk eku gS __________.

Ans. Official Answer NTA (150)
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Sol.

Question ID : 1725

Straight Line

25. A ray of light passing through the point P(2, 3) reflects on the x-axis at point A and the reflected ray

passes through the point Q(5, 4). Let R be the point that divides the line segment AQ internally into the

ratio 2 : 1. Let the co-ordinates of the foot of the perpendicular M from R on the bisector of the angle

PAQ be(, ). Then, the value of 7 + 3 is equal to ________.

fcUnq P(2, 3) ls gksdj tkus okyh jks”kuh dh ,d fdj.k x-v{k ij fcUnq A ls ijkofrZr gksrh gS rFkk ijkofrZr fdj.k fcUnq

Q(5, 4) ls gksdj tkrh gSA ekuk fcUnq R js[kk[k.M AQ dks 2 : 1 ds vuqikr esa var% foHkkftr djrk gSA ekuk dks.k PAQ

ds lef}Hkktd ij ls R yac ds ikn M ds funsZ’kkad (, ) gSaA rks 7 + 3 dk eku cjkcj gS _______.

Ans. Official Answer NTA (31)

Sol.

Question ID : 1726

Tangent and normal

26. Let l be a line which is normal to the curve y = 2x2 + x + 2 at a point P on the curve. If the point Q(6, 4)

lies on the line l and O is origin, then the area of the triangle OPQ is equal to __________.

ekuk l ,d js[kk gS tks oØ y = 2x2 + x + 2 ds fcUnq P ij vfHkyac gSA ;fn fcUnq Q(6, 4), js[kk  l ij gS rFkk O  ewy

fcUnq gS] rks f=Hkqt OPQ dk {ks=Qy cjkcj gS __________.

Ans. Official Answer NTA (13)

Sol.

Question ID : 1727

Sequence & progression

27. Let A = {1, a
1
, a

2
, ......... a

18
, 77} be a set of integers with 1 < a

1
 < a

2
 < ......... < a

18
 < 77. Let the

set A + A = {x + y : x, y  A} contain exactly 39 elements. Then, the value of a
1
 + a

2
 + ...... + a

18
 is equal

to _________.

ekuk iw.kkZadksa dk ,d leqPp; A = {1, a
1
, a

2
, ......... a

18
, 77} gS rFkk 1 < a

1
 < a

2
 < ......... < a

18
 < 77 gSaA ekuk leqPPk;

A + A = {x + y : x, y  A} esa ek= 39 vo;o gSaA rks a
1
 + a

2
 + ...... + a

18
 dk eku gS _________.

Ans. Official Answer NTA (702)
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Sol.

Question ID : 1728

Binomial Theorem

28. The number of positive integers k such that the constant term in the binomial expansion of 
12

3

k

3
2x

x

 
 

 
,

x  0 is 82 .  , where   is an odd integer, is ________.

/kukRed iw.kkZadksa k ftuds fy, 
12

3

k

3
2x

x

 
 

 
, x  0 ds f}in izlkj esa vpj in  82 .   gS] tgk¡   ,d fo’ke la[;k

gS] dh la[;k gS _______.

Ans. Official Answer NTA (2)

Sol.

uestion ID :  1729

omplex number 

 9. he number of elements in the set {z = a + ib  C : a, b  Z and 1 < |z – 3 + 2i| < 4} is __________  .

eqPp; {z = a + ib  C : a, b  Z rFkk 1 < |z – 3 + 2i| < 4}gSa esa vo;oksa dh la[;k gS__________  .

 ns.  fficial Answer NTA (40)

 ol.

uestion ID :  1730

ircle 

 0. et the lines y 2x 11 7 7    and 2y x 2 11 6 7    be normal to a circle 

. If the line 
5 77

11y 3x 11
3

    is tangent to the circle C, then the value 

f (5h – 8k)2 + 5r2 is equal to _________  .

kuk js[kk,sa y 2x 11 7 7    rFkk 2y x 2 11 6 7    ,d o`Ùk    
2 2 2C : x h y k r     ds yacor gSA 

fn 
5 77

11y 3x 11
3

    o`Ùk C dh Li”kZ js[kk gS] rks (5h – 8k)2 + 5r2 dk eku cjkcj gS _________. 

 ns.  fficial Answer NTA (816)

 ol.
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